106 4= 2L

a+2b
s R, q, T RN -

a+2b
T =2
3

1.3<a<b<4p=log,Vab? q = log,
2.(1) #5HHcos 360 = 4cos® 0 —3 cos O

(2) AFIFEFIAEAREE0Hcos 30 = 4cos® 0 —3cos 0

3. HEERES (x,y) =y — mxXRITRRE Yy > [3x| + |x — 1] + [x — 2[5 IMEATES

HAREAEImES » oK m HYHEIE -
2017

4 ay=1,a,=1,a,=ay 1+ ay ,(VREN,n>3) " jzkz_;im”‘a" .

5. Effn_lzoxi =70 > iyi =50 - ixf —1490 _ioxiyi = 420 > SIS EARTEAE X =17
0 > Y B R{AT -

6. 10 FEMH[EALER ~ 22 FEMEAERALR S » FXEH—FE - B~ el - 58w
HUERERESE - 5URE X KEEKETEGEAIER - X ZHASE -

7. FiAl FENEEP (a, b) » TAHIBEPESE S (x) = —x* + 2x + B =R D)4 - #2
H 5 Ea, bR -

8. F—EIEiIFESG » BRA 10 A0 » FEVU{E ERE - 2REemafE DUE A& & EARHYEE

A BESR G P LB LT - B D S AT R A EATE Y - I
IR - E B 28 WA T (B EE - SELLVIR ST
S R S B ] 2

9.(1) SALIEEEERAN ARG - vn € nHn > 3,2™ > 3nf{RAKIL -
(2) B0 ¢ im0 =0 -

n—w §"
() sk Yo
=5
10. EHIAABC & AREEEIE 90 [ » HFE 0By H > #M0aEy O 0 #50A = AH > 305K ZA -
11. [ PUEFS ABCD S FALUERH M BE > P> Q 43 FI5AAMD » ACMB [JEE L » R > S 45
AIESADMC - AMAD (L - BaEHIPQ L RS -
12. VUT#E OABC » H:ff0A=3 » OB=4 > 0C=5 > ~AOB=45"> ~AOC=45"> ~/BOC=60" 3K

VUSRS ©



